TT-1227 2/99

INSTALLATION INSTRUCTIONS

Original Issue Date: 2/99
Model:

Market:

Subiject:

Industrial

1250-2000 kW (Detroit Diesel Series 4000 Engines)

Safeguard Circuit Breaker Kits PA-361718, PA-361718-SD, PA-361719,

PA-361719-SD, PA-361720, PA-361720-SD, PA-361721, PA-361721-SD,

PA-361722, PA-361722-SD

The safeguard circuit breaker kit protects the generator
set from a short circuit. The safeguard circuit breaker
matches the generator set characteristics, differentiating
it from conventional circuit breakers. See Figure 1 for
circuit breaker ratings. Ifthe generator sethas a meterless
controller, a current transformer kit must be ordered.
Observe the following safety precautions while installing
the kit.

Kit No. Amps
PA-361718, PA-361718-SD 3.0
PA-361719, PA-361719-SD 3.5
PA-361720, PA-361720-SD 4.0
PA-361721, PA-361721-SD 4.5
PA-361722, PA-361722-SD 5.0

Figure 1. Safeguard Circuit Breaker Kits

A WARNING

ﬁ\_
L@ b 4
Accidental starting.
Can cause severe injury or death.

Disconnect the battery cables before
working on the generator set.
Remove the negative (-) lead first
when disconnecting the battery.
Reconnect the negative (-) lead last
when reconnecting the battery.

Disabling the generator set. Accidental starting can cause
severe injury or death. Before working on the generator set or
connected equipment, disable the generator set as follows:
(1) Move the generator set master switch to the OFF position.
(2) Disconnect the power to the battery charger. (3) Remove the
battery cables, negative (-) lead first. Reconnect the negative
(-) lead last when reconnecting the battery. Follow these
precautions to prevent starting of the generator set by an
automatic transfer switch, remote start/stop switch, or engine
start command from a remote computer.



Installation

. Place the generator set master switch in the OFF
position.

. Disconnect the power to the battery charger, if
equipped.

10.

Wire the safeguard circuit breaker. See Figure 5 for
the wiring connections to a local mounted voltage
regulator. See Figure 6 for the wiring connections to
a remote mounted voltage regulator. See Figure 4
for location of the safeguard terminal strip (TB5) on
the junction box inner panel.

11. After completing the wiring connections close the
. Disconnect the generator set engine starting junction box inner panel access door and reinstall the
battery(ies), negative (-) lead first. two bolts removed in step 4.
. Remove the two junction box inner panel access door 12. Check that the generator master switch is in the OFF
bolts. See Figure 2. position.
. Remove the safeguard circuit breaker knockout. 13. Reconnect the generator set engine starting battery,
While supporting the door place a wood block behind negative (-) lead last.
the knockout and strike the wood block with a 14. Reconnect the power to the battery charger, if

hammer to remove the knockout. See Figure 2.

. Install the safeguard circuit breaker in the junction
box inner panel access door. Secure the circuit
breaker to the door with four #6-32 x 0.5 in. slotted
pan head screws (X-49-26) and four #6 internal tooth
lock washers (X-22-6).

. Verify that the circuit breaker is in the OFF position.

. Clean and dry the surface below the safeguard circuit
breaker and apply the safeguard breaker decal
(293667). See Figure 2.

equipped.

3
. Route the safeguard circuit breaker wiring harness
(361540) through the existing convoluted tubing on A
the inside of the junction box inner panel access door.
See Figure 3.
PL-272000-
1 1. Local mounted voltage regulator
\ 2. Safeguard breaker wiring harness (361540)
3. Convoluted tubing
bite o Figure 3. Junction Box Inner Panel Access
D T 5 Door—Rear View
—
- 9 o 3 0 - — . — . o P
T oy I 1T
- |
Q| [ o
06 -]
b 5 - |
I ° ° |
| ° > LA
\//\ 17 w
NX-272000A-G °l.
1. Safeguard circuit breaker knockout T T T
2. Access door bolts PL-272000-

3. Safeguard breaker decal (293667)

. . 1. Safeguard terminal strip—TB5
Figure 2. Junction Box Inner Panel Access Door 9 P

Figure 4. Junction Box Inner Panel

TT-1227 2/99



JUNCTION BOX
JUMPERS USED FOR

X-6076-2—0

SWITCHGEAR CONTROLLER TB5

SAFEGUARD 3
TERMINAL I
BLOCK

8
1O QOf
O Q O
(o]
13
ogo
o030

p)

137

——138

SAFEGUARD
BREAKER

HITE @

BLACK

o
@

CT2 CT3

NOTE:
CURRENT TRANSFORMER DOT
OR'H1’ TOWARD GENERATOR

DVR 2000/2010
VOLTAGE _[Fwg| - =
REGULATOR [Fi -
TOL1 (BUS) —E1] []
4 LEAD STATOR VOLTAGE
ToNT BT 1) ADJUST o7 yp
6 LEAD STATOR
TOL2 (BUS) —+{E2
4 LEAD S(I'AT R = VOLT DN
TOV8 (PT2)
6 LEAD STATOR ‘
TOL3 (BUS) —E3]
4 LEAD STATOR
TOV9 (PT3
6 LEAD STATOR

NOTE: FOR GENERATOR
CONNECTIONS SEE ADV-5875.

GENERATOR

Fi+
F2-

4LEAD
L3, STATOR

AC F-

EXCITER
ROTOR AC

[ [Ac

PMG
RECTIFIER STATOR
138
137

NOTE: FOR GENERATOR
CONNECTIONS SEE ADV-5875. CAPACITOR

NOTE:

JUNCTION BOX

X-6076-2
JUMPERS USED FOR 85
SWITCHGEAR CONTROLLER g rreGUARD Wy
TERMINAL © 0
Srock - |cocicacaroN
T
4 cicacs
J— [

137 T
138

? E‘
5%?

NOTE.

OPTIONAL ( ™

SAFEGUARD
BREAKER

CT1  CT2 CT3

CURRENT TRANSFORMER DOT
OR'H1’ TOWARD GENERATOR

136

FUSE BLOCK AND
TERMINAL BLOCK ARE
PART OF REMOTE
VOLTAGE REGULATOR

DROOP CT //
b1
iy
o3 135
o4 11—
i Fley—— NOTE:
TOREMOTE | £od e
VOLTAGE - 1]
REGULATOR
oo d
loto] KIT.
o
o 186
1ad} 187
Po1ad 188

= TG2

E1 E2 E3
TO GENERATOR
NOTE: FOR GENERATOR
CONNECTIONS SEE ADV-5875.

GENERATOR

EXCITER
ROTOR

]

RECTIFIER
MODULE

138

137

NOTE: FOR GENERATOR
CONNECTIONS SEE ADV-5875.

NOTE:

4 LEAD
L3, STATOR

CAPACITOR

REMOVE PMG LEADS FROM VOL. REG. TO CAPACITOR
AND USE WIRE HARNESS LEADS 137 AND 138.

]7

PU-272000-

REMOVE PMG LEADS FROM VOL. REG. TO CAPACITOR
AND USE WIRE HARNESS LEADS 137 AND 138.

PU-272000-

Figure 5. Safeguard Circuit Breaker Wiring with a
Local-Mounted Voltage Regulator

TT-1206 2/99

Figure 6. Safeguard Circuit Breaker Wiring with a
Remote-Mounted Voltage Regulator




Safeguard Circuit Breaker Kits

Parts List
Kits: PA-361718, PA-361718-SD, PA-361719,
PA-361719-SD, PA-361720, PA-361720-SD Unique Parts
PA-361718 PA-361719 PA-361720
Qty. Description Common Parts  PA-361718-SD PA-361719-SD  PA-361720-SD

4 | Washer, internal tooth #6 X-22-6

4 | Screw, phm, 6-32 x 0.50 in. X-49-26

1 | Breaker, circuit X-796-4 X-796-3 X-796-1
1 | Decal, safeguard breaker 293667

1 | Harness, safeguard breaker 361540

Safeguard Circuit Breaker Kits
Parts List
Kits: PA-361721, PA-361721-SD, PA-361722,
PA-361722-SD Unique Parts
PA-361721 PA-361722
Qty. Description Common Parts | PA-361721-SD | PA-361722-SD

4 | Washer, internal tooth #6 X-22-6

4 | Screw, phm, 6-32 x 0.50 in. X-49-26

1 | Breaker, circuit X-796-2 X-796-6

1 | Decal, safeguard breaker 293667

1 | Harness, safeguard breaker 361540

4

TT-1227 2/99



